MAHARSHI DAYANAND UNIVERSITY ROHTAK
Theory date sheet for B.Ed. Annual Examination July, 2013

Time of Examination: - 2.30 p.m. to 5.30 p.m. Centre of Examination: - As per Roll No. Slip & Building Notice

Date	Subject (Full Nomenclature)		Paper	Paper Code
02-07-2013	Education: Philosophical and Sociological Bases.(New)		I	15811
	Edu. Philosophical & Sociological Basis. (Re)		I	14531
	Education in Emerging Indian Society(Old)		I	14036
	Learner, Learning and Cognition(New)		II	15812
03-07-2013	Psychology of Teaching & Learning (Old)		II	14037
	Learner, Learning and Cognition.(Re)		II	14532
	PART-A(Time 2.30 p.m. to 4.00 p.m.)			
	Secondary Education in India(New)		III-A	15813
	Secondary Education in India		III-A	14533
	Secondary Education & School Management	(Old)	III-A	14038
	PART-B(Time 4.30 p.m. to 6.00 p.m.)			.=
	1. Yoga Education.(New)	(A) \	III-B(i)	15814
	2. Education Vocational Guidance and Counselling. (New)		III-B(ii)	15815
	3. Health and Physical Education. (New)		III-B(iii)	15816
	4. Environmental Education. (New)		III-B(iv)	15817
	5. Distance and Open Learning. (New)		III-B(v)	15818
	6. Educational Measurement and Evaluation. (N	lew)	III-B(vi)	15819
	7. Gender Sensitization and School. (New)		III-B (vii)	15820
	8. Human Rights and Peace Education. (New)		III-B(viii)	15821
24.07.0040	1. Yoga Education (Re)		III-B(i)	14534
	2. Educational & Vocational Guidance (Re)		III-B(ii)	14535
04-07-2013	3. Health & Physical Education (Re)		III-B(iii)	14536
	4. Environmental Education (Re)		III-B(iv)	14537
	5. Distance and Open Learning(Re)		III-B(v)	14538
	6. Educational Measurement and Evaluation(Re))	III-B(vi)	14539
	7. Gender Sensitization and School(Re)		III-B (vii)	14540
	8. Human Rights Education (Re)		III-B(viii)	14541
	1- Education of Exceptional Children (Old)		III-B(i)	14039
	2- Yoga Education (Old)		III-B(ii)	14040
	3- Population Education (Old)		III-B(iii)	14041
	4- Educational & Vocational Guidance (Old)		III-B(iv)	14042
	5- Mental Hygiene (Old)		III-B(v)	14043
	6- Adult & Continuing Education (Old)		III-B(vi)	14044
	7- Health & Physical Education (Old)		III-B(vii)	14045
	8- Environmental Education (Old)		III-B(viii)	14046
	9- Science Technology Education (Old)		III-B(ix)	14047
	Educational Technology(Old)(Time:- 2.30 p.m. to 5.3	20 n m \	IV	14048
			IV(A)	14542
	Curriculum and School Mgt. (Re)(Time:- 2.30 p.m. to 4.00 p.m.)			
05-07-2013	Curriculum and School Mgt. (New)(Time:- 2.30 p.m. to 4.00 p.m.)		IV(A)	15822
	Inclusive Education (Re)(Time:- 4.30 p.m. to 6.00 p.m.)		IV(B)	14543
	Inclusive Education (New) (Time:- 4.30 p.m. to 6.00 p.m.)		IV(B)	15823
	Information Communication and Educational Technology	ology (Re)	٧	14544
06-07-2013	Information Communication and Educational Technology	ology (New)	V	15824
	Table 1 1/2 0 2 (4.4057) 2221 0 2 0 (1) (01.1)	T1'(0	(4.4050)	·'('') O · O('')(OLI)
	Teaching of Life Sc. (14057) v,vi,Gr.C (i) (Old)	Teaching of Geogra		
	Teaching of Economics(14059) v, vi C (iii) (Old)	Teaching of Music(
	Teaching of Computer Sc (14557) VI & VII(v) Re Teaching of Geogra			
08-07-2013	Teaching of Life Sc. (14553) VI & VII Gr. C(i) Re Teaching of Music (
	Teaching of Economics (14555) VI & VIIGr. C(iii) Re Teaching of Geogra			
	Teaching of Computer Sc (15838) VI & VII(v) New	Teaching of Music	(15837)VI & VII	Gr.C(iv)(New)
	Teaching of Life Sc. (15834) VI & VII Gr. C(i) New			
	Teaching of Economics (15836) VI & VIIGr. C(iii) New	T	/4 4F 46\ \ \ C	/II O - A /:- \ /D \
09-07-2013	Teaching of English (14049) V,VI,Gr.A(i) (Old)	Teaching of Sanskr		
	Teaching of Punjabi(14051) v,vi,Gr.A(iii) (Old)	Teaching of Sanskr		
	Teaching of English (14546) VI & VII Gr.A(ii)(Re)	Teaching of Sanskr	rit (15828) VI & '	VII Gr.A(iv)(New)
	Teaching of Punjabi (14547) VI & VII Gr.A(iii)(Re)			
	Tabalina of English (45000 \ \/; 0 \/ 0 , A (;;\/N)			
	Teaching of English(15826) Vi & VII Gr.A(ii)(New) Teaching of Punjabi(15827) Vi & VII Gr.A(iii)(New)			

10-07-2013	Teaching of Math(14053) v,vi,GR.B(i) (Old)	Teaching of Home Sc.(14054) vi,Gr.B(ii) (Old)
	Teaching of Math(14549) VI & VII GR.B(i) (Re)	Teaching of Art(14056) v,vi GrB (iv) (Old)
	Teaching of Math(15830) VI & VII GR.B(i) (New)	Teaching of Home Sc. (14550) VI & VII GR.B(ii) (Re)
	Teaching of Commerce(14055) v,viGr.B (iii) (Old)	Teaching of Art (14552) VI & VII GR.B(iv)(Re)
	Teaching of Commerce(14551) VI & VII GR.B(iii)(Re)	Teaching of Home Sc. (15831) VI & VII GR.B(ii) (New)
	Teaching of Commerce(15832) VI &VII GR.B(iii)New)	Teaching of Art (15833) VI & VII GR.B(iv)(New)
11-07-2013	Teaching of Social Studies (14063)v,vi(iii)Gr.D(Old)	Teaching of Civics (14062) v,vi Gr.D(ii) (Old)
	Teaching of Physical Sc.(14061) v,vi D(i) (Old)	Teaching of History(14064) v, vi Gr.D(iv) (Old)
	Teaching of Social Studies (14561) VI & VII(iv) (Re)	Teaching of Civics (14559) VI & VII(ii) (Re)
	Teaching of Physical Sc. (14558) VI & VII Gr.D(i) (Re)	Teaching of History (14560) VI & VII(iii) (Re)
	Teaching of Social Studies(15842)VI&VIIGr.D(iv) (New)	Teaching of Civics (15840) VI & VIIGr.D(ii) (New)
	Teaching of Physical Sc. (15839) VI & VII Gr.D(i) (New)	Teaching of History (15841) VI & VIIGr.D(iii) (New)
12-07-2013	Teaching of Urdu(15829) VI & VII Gr-A (v)	Teaching of Hindi (14545) VI & VII Gr.A(i)(Re)
	Teaching of Urdu(14562) VI (Re)	Teaching of Hindi (14050) v,vi,Gr.A(ii) (Old)
		Teaching of Hindi (15825) VI & VII Gr. A(i) New

Note:

- 1- Before answering the question paper, the candidate should ensure that they have been supplied the correct paper. Complaints in this regard, if any, shall not be entertained after the examination.
- 2- The pager / mobile phone is not allowed in the examination centre.
- 3- Use of simple calculator is allowed. Exchanging of calculator is not allowed.

Controller of Examinations

MAHARSHI DAYANAND UNIVERSITY ROHTAK

Theory date sheet of B.Ed. (Elementary Education) 3rd and 4th Year Examinations July, 2013

Time of Exam. : 2.30 p.m. to 5.30 p.m. Centre of Exam .: NBGSM, Sohana

Date	Subject (Full Nomenclature)	Paper	P.Code
	3 rd Year	l .	
02.07.2013	Logic & Mathematics Education	F.3.2	14511
03.07.2013	Basic Concepts in Education	F.3.6	14512
04.07.2013	04.07.2013 School Planning & Management		14513
05.07.2013	Pedagogy of Environmental Studies Liberal Cours	e F.3.3	14514
06.07.2013	Hindi	03.2	14515
08.07.2013	Chemistry	03.5	14516
09.07.2013	Economics	03.10	14517
	4 th Year TIME:- (2.30 pm to 4.00 pn	n)	
02.07.2013	Curriculum and Instructions	F-4.8	14518
03.07.2013	Computer Education	F-4.9	14519
04.07.2013	Pedagogy of Language	OPT A4.1	14520
05.07.2013	Pedagogy	OPT A4.2	14521
06.07.2013	Pedagogy of Natural Science	OPT A4.3	14522
08.07.2013	Pedagogy of Social Science	OPT A4.4	14523
09.07.2013	Special Education	OPT B.4.2	14524

Note:

- 1. Before answering the question paper, the candidate should ensure that they have been supplied the correct paper. Complaints in this regard, if any, shall not be entertained after the examination.
- 2- The pager / mobile phone are not allowed in the examination centre at any cost.
- 3- Use of simple calculator is allowed. Exchanging of calculator is not allowed.

CONTROLLER OF EXAMINATIONS

MAHARSHI DAYANAND UNIVERSITY ROHTAK

Theory date sheet for B.Ed. (Special Education) & (Special Education – MR, New)
Annual Examinations July, 2013

Time of Exam.: 2.30 p.m. to 5.30 p.m.

Centre of Exam.: As per Roll No. Slip & Building Notice.

Date	Subject (Full Nomenclature)	Paper	P.Code
02-07-2013	Nature & Needs of various Disabilities	I	14065
	Nature & Needs of various Disabilities –	I	15845
	An Introduction		
03-07-2013	Education in Emerging Indian Society	II	14066
03-07-2013	Education in India: A global Perspective	II	15846
	Education Psychology and the Disabled	III	14067
04-07-2013	Education Psychology and person with	III	15847
	Disabilities		
	Educational Mgt. Curriculum Designing &	IV	14068
05-07-2013	Research		
	Educational Planning and Management	IV	15848
	Curriculum Designing and Research		
00.07.0040	Identification & Assessment of Mentally Retarded	V	14069
06-07-2013	Identification and Assessment of person with Mental Retardation	V	15849
00 07 0040	Mental Retardation its Multi Disciplinary Aspect	VI	14070
08-07-2013	Mental Retardation its Multi Disciplinary Aspect	VI	15850
09-07-2013	Curriculum & Teaching Strategies	VII	14071
	Curriculum & Teaching Strategies	VII	15851
	Teaching of English	VIII & IX Gr.A(i)	14072
10-07-2013	Teaching of English	VIII & IX Gr.A(i)	15852
10-07-2013	Teaching of Hindi	VIII & IX Gr.A(ii)	14073
	Teaching of Hindi	VIII & IX Gr.A(ii)	15853
	Teaching of Social Studies	VIII & IX Gr.B(i)	14074
11-07-2013	Teaching of Social Studies	VIII & IX Gr.B(i)	15854
11-07-2013	Teaching of Mathematics	VIII & IX Gr.B(ii)	14075
	Teaching of Mathematics	VIII & IX Gr.B(ii)	15855

Note:

- 1- Before answering the question paper, the candidate should ensure that they have been supplied the correct paper. Complaints in this regard, if any, shall not be entertained after the examination.
- 2- The pager / mobile phone is not allowed in the examination centre.
- 3- Use of simple calculator is allowed. Exchanging of calculator is not allowed.

Controller of Examinations